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6.1.1 DOO0OOOOOOOOO
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0000000000000 on
—T
=C

O0000000CDO00000 (Hermite)OOOOOO
00 CO0O0000000000C=C00

cl=C

00000D00D0CDOD (symmetric) 000000

6.1.2 0DO00O0ODO0OOOOOOO

oooooo uueC™goooa
—T —T
uUuu=uu =1I,
—T
oooul=u DDDDDUDDDDD(unitary)l]DDDDD
LIDDDDDDDDDDDE:LIDDDDD
u'u=uur =1,

O00O00D0O0oouooO (orthogonal) 00O OO0
Uodooooooooooooooooooooo

U=[uwu..u]weC,i=1,2,..,n)
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0000000000000 ay(i=1,2,.,nm000000000000 00000 DOODOOO
(diagonal) 0000000000000 OO0O0OOODO
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oo0oO0o00000 aiq(=1,2,.,n=1)0000000 (upper subdiagonal element), 0 0 0 O O
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000000000000 000000000 HOOOOOOODO (Hessenberg) DOO OO0
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. I’l]l h]z e hln
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0 t 0 hn,n—l hnn

O00000o0oooo00o0oDooo000ooDoo0oU00D U oo00doooooooooooooooon
oo0ooogoLoooo

[ w11 U o Uiy
. Uiz - Ui
U= 0 uxp - U | _
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0o --- 0 Uy
Iih O 0
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[=| ™ ‘2 _ .
0 lnl lnn
| lnl e ln,n—l lrm
00 6.1
1. 0000 [,00000 O00000oooooooon
2.0000 A B CeC®>00ooooooon
-4 0 4 i -1 3+21 2 -1 0
A= 0 5 1 |,B= i 2—-4i -9 ,C=| -2 3 1
4 1 -3 3-2i -9 1+4i 0 5 4

6.2 0D0OO00O0OOO0ODOOODOOOOOOO
6.21 0000O00O0O0OOOOO Landaud OO0

gooboobooobobooboboobbooobooboboobbooboooboobbooboon
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T(0 O (FADD)) = T(D O (FSUB)) < T(0 O (FMUL)) < T(O O (FDIV)) 6.1)
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00000 (cacheyDOODOO0OO0OO0OOOOOOOOOOOOOOOOODOOODOOOODOOOOOOO?2
gboooobogooboobooobooboboobboobooobooboboobbooobooboo



62 O0O00ODOOOOOOODOOOOOO 55

gboooobogoobooboooboooboobbooboooboobboobboooboobo
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gdoobooboobobooboboobboooboooboobbooobooobooboboobooon
gooboomooooboboooobboooobDbboooobbboooobbboooobbo
goo
0000000000000000000000000000 (order) 00000000 OOOO
Landau 0 O(O0OO0OOO)00000OO

00 6.1 (Landau 0 OO0O)
00000000 f(x),gx)eROOCDOOO f(x) =0(g(x)) OO

lim@:DD(;tO)
o 500
000000000000000 f(x)O ¢gx)0000 (order) 000D O0DO0OO O(g(x)) O Landau
0O0O0O0O000)000000Ca0000000D0DO0 xreoc00O0OD0OOOO

o f(x)
) X
o O

00000000 f(x)=o(g(x)) 0000000 o000000)000000

000000000000 OOO00)000D00O0D0D00gx)D0D0O0D00O0D00O000O xO0O
D000D0000 «%,%%,.x"00000(") 000 x»"0000000000000000000000
gooboobogoobooboboobooboa

6.22 0O00O0OO0OO0OO

0000000000000 000000000000000000000000000000000
000000000000000000000000000000

000000 c=Re(c)+Im(c)V-1eCO 2000000 (Re(e),Im(c)) 0000000000000
0000000000000 0000000000000000000000

lal = V(Re(a))? + (Im(a))? (6.2)

a+b = (Re(a) £ Re(h)) + V=1(Im(a) + Im(b)) (6.3)

ab = (Re(a)Re(b) — Im(@)Im(b)) + V=1(Im(a)Re(b) + Re(a)Im(b)) (6.4)
ab

000 b=Re()-Im(h)V-10000
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061 ODOOCOOOOOOO

ooo (00 (b0 |gboo
la| ((6.2) O) 1 2 0 1
la| ((6.6) O) 1 2 1 1
ax+b 2 0 0 0
ab 2 4 0 0
a/b((650)| 3 6 | 2 0
a/b((6.7)0) 3 3 3 0

O00000000000000000w0q/p00000000000000000000 [2]0

Re(a) (if Im(a) = 0)
Im(a) (if Re(a) = 0)
=1 [Re(@]|+/1+ ({{Ef)) )2 (if [Re(a)| > [Tm()] > 0) (6.6)
2
IIm(a)| 1+(ﬁﬁzn (if [Im(a)| > [Re(a)] > 0)

oooo (fb=0
(0O Re(d) = Im(d) = 0))

Re(a) + Im(a) - (m) —Re(a) - (m) + Im(a)
+

Rew) Rew) Vv
S S
(if [Re(b)| = [Im(b)| = 0)
a/b= 000 s = Re(b) + Im(b) - (f{mng)) 6.7)
Re) Re()
Re(a) - ( ) +Im@@) —Re(a) + Im(a) - (
Ims(b) N : Im®) \/_—1

(if Im(b)| > |Re(b)| > 0)

000 s =Re(b) - (ﬁf\ii’)) + Tm(b)

O000000DoOoO0oOoddbDeeldlDOOO0ODOODOOOODDOOODODOOODO203 00000
gboooobogoobooboooboooboobbooboooboobobooboooboobo
00000000ooooooooo00oooooDoOooOoOOoOoooo 200000
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1.0 (66)0(67) 00000 |a|0¢/b000000000000000
2.00000000000000000000000000000000000000000000
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gdgd | dd
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ooad oo
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AB | n*(n=1)" |

‘0000000000000 DO0O0ODUOOOOg
gboooooooobon0OOoOOoOOOOO

6.23 00OODOOO

‘0000000000000 0UO0O0O0O0OOOO
00000000000#? 000000000
bOpoDOoOOO0DO0O0O000O00000O0000
00000000000# 000000000

00000000000000000000000000000000000000 (linear compua-
tion) 000 0000000000000 00D00000000000N000000ooooooogd

gbobooobogooooboboobbooboooog

00000 a=[ma -—a] e R"O0D0D0O0D00O0000000000 A = [a;] € My(R)
(G,j=1,2,.,m00000000000000 6206300000000
Scilab0 00000000000 OOOOCOOOOOOODOOOO AeR™,beR"

= [V2(n - (i + j)]!

ij=1

[ V2(n—-2) V2 -3) -+ V2(-1)
Y V2(n-3) V2(n-4) -+ V2(-2)
VECD) VB2 - VA
V2
22
L :
| nva

000000000000 ApO0O0OO0OO0OO0OOO0OOO 100000000000 O0OOOOOO0OO

(benchmark.sce) 00 00000

:// 0000000000000000O0

:// 000
rprintf("OO0000000O00000O0O000\n");
: printf("O OO, oo, GFlops\n")

:// 000000

: index = 1;

0 N O v A W N R
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9: graph_x = [];
10: graph_gflops = [];
11: for dim = 500:100:1000

12:

13: // 0000 (veco)OODODO

14: vec = [];

15: for i = 1:dim

16: vec(i) = sqrt(2) * i;

17: end;

18:

19: // 00 (mat) OO OO

20: mat = [];

21: for i = 1l:dim

22: for j = 1l:dim

23: mat(i, j) = sqrt(2) * (dim - (1 + j));
24: end

25: end

26:

27: // 00000000000

28: tic(Q;

29: vec_ret = mat * vec;

30: mat_vec_mul_time = toc();

31:

32: // 000000

33: graph_x(index) = dim;

34: graph_sec(index) = mat_vec_mul_time;
35: graph_gflops(index) = (dim * dim * 2) / mat_vec_mul_ti

me / 102473;

36: printf("%6d, %10.3g, %10.3g\n", dim, graph_sec(index),
graph_gflops(index));

37:

38: index = index + 1;

39: end; // OOOO0OOOO

40:

41: // 00000
42: plot(graph_x, graph_gflops);

O0000OCO0O0OOOO 29000000000000000000O0O0ODODODODO mat_vec_mul_time
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0000000000000000000000000002-2000001000000000000

000000000000 Flops(FLoating-point Operations Per Second) 0000000000000

000000000 1024° 0000 0 GFlops(Giga Flops) 00000000
ooooooboogoooono

gooooboooboobooon

ooo,
500,
600,
700,
800,
900,

1000,

oo, GFlops
0.002, 0.25
0.002, 0.36
0.003, 0.327
0.004, 0.32
0.005, 0.324
0.006, 0.333

0000000000 000GHoopsO0OO0DOO0DOO0ODOO0DOO0OO0 420000000000

Oogd 6.2

l.a,peROa,beR"O00000a+pb 000000000

2. a,peR,ABCeM,(R)O0000(A+pB)COODOODOD00

3.a,beC'O00000OO (a,b)idooooOon

4. benchmark.sce 00000000000 A BOO ABOODODOOOOOOGFlopsOOOOO
Scilab 0 00 00O Obenchmark.matsce 000000 A, BOOODOOOOOOO

// 00 a(mat_a) O0O0O0O
mat_a = [];
for i = 1:dim
for j = 1l:dim
mat_a(i, j) = sqrt(2) * (i +3j - 1);
end

end;

// 00 b(mat_b) 0000
mat_b = [];
for i = 1:dim
for j = l:dim
mat_b(i, j) = sqrt(2) * (dim * 2 - (i + j - 1));
end

end



